
Série 1

(1) 500 × 0,1

(2) 973 est-il divisible par 3 ? 

Expliquer.

(3) Calculer en ligne avec 2 étapes :

     52 × 12

= 52×10 + 52×…

=           +



Série 2

(1) 0,1 × 25

(2) 1 572 est-il divisible par 3 ? 

Expliquer.

(3) Calculer en ligne avec 2 étapes :

    103 × 13

= 103×... + 103×…

= 



Série 3

(1) 1,2 × 0,1

(2) 25 176 est-il divisible par 3 ? 

Expliquer.

(3) Calculer en ligne avec 2 étapes :

     32 × 12 =



Série 4

(1) 114,1 × 0,1

(2) 111 111 est-il divisible par 3 ? 
Expliquer.

(3) Calculer en ligne avec 2 étapes :
     204 × 12

=


